
9,$/(�7,=,$12�������������520$
7HO����������������)D[������������

3��,9$������������

&RPXQLFDWR�8IILFLDOH�Q�

��������

&2081,&$72�8)),&,$/(�1�������������520$�����������

,O�*LXGLFH�6SRUWLYR�5HJLRQDOH�GHOOD�)HGHUD]LRQH�,WDOLDQD�%DVHEDOO�6RIWEDOO���'XFFLR�0RVFKHOOD��QHOOD�VHGXWD�GHO������������KD

RPRORJDWR�OH�JDUH�GL�VHJXLWR�LQGLFDWH�HG�KD�DGRWWDWR�OH�GHOLEHUH�HG�L�SURYYHGLPHQWL�FKH�LQWHJUDOPHQWH�VL�ULSRUWDQR

8���6RIWEDOO�����

$��5LVXOWDWL�JDUH

7RVFDQD���5HJXODU�VHDVRQ���*LURQH�$ *LRUQDWD���

5LVXOWDWL�JDUH

���������� 6��56$$5��������� 3DGXOH�VHVWHVH %6&�*5266(72����� �������

$QWRQLR�5266,

���������� 6��56$$5��������� ),5(1=(�62)7%$//�$�6�'� 3,6$�72:(56 �����

/RUHWWD�0$00,1,

(QWUDPEH�OH�VTXDGUH�KDQQR�JLRFDWR�LQ�GHURJD�

%��&ODVVLILFKH

7RVFDQD���5HJXODU�VHDVRQ���*LURQH�$

&ODVVLILFKH 7HDP�/DEHO 3* 39 33 3$5 3(5��� *%

� %6&�*5266(72����� � � � � ����� �

� 3DGXOH�VHVWHVH � � � � ���� �

� ),5(1=(�62)7%$//�$�6�'� � � � � ���� �

� 3,6$�72:(56 � � � � ���� ���

&��3URYYHGLPHQWL�GLVFLSOLQDUL

62&,(7�

3(1$/,7��*$5(�3(56(��1��SHQDOLW¢����DOOD�VRFLHW¢���������3,6$�72:(56�%$6(%$//�	�62)7%$//�$�6�'��*DUD�6��56$$5����� !

5LQXQFLD�HVSUHVVD�D�JDUH�IHGHUDOL�������5�$�$����9LVWL�JOL�DWWL�XIILFLDOL�H�FRQVLGHUDWR�FKH�����OD�VTXDGUD�LQ�GLIHWWR�VL�ª�SUHVHQWDWD�LQ�FDPSR

FRQ�RWWR�JLRFDWRUL�SUHVHQWL�D�URVWHU��TXLQGL�FRQ�SL»�GHO�QXPHUR�PLQLPR�SHU�SRWHU�DFFHGHUH�DOOD�IDFLOLWD]LRQH�SUHYLVWD�QHOOD�QRUPD

�'HURJKH��GHOOD�&$$5�7RVFDQD�����OD�VRFLHW¢�DYHYD�VHJQDODWR�DOOD�&2*�5HJLRQDOH�O
HVLVWHQ]D�GL�WDOH�FULWLFLW¢�LQ�PDQLHUD�SUHYHQWLYD�

RQGH�DFFHGHUH�DOOD�QRUPDWLYD��'HURJKH��GHOOD�&$$5�7RVFDQD��LO�*�6�5�����FRPPLQD� !�3HUGLWD�GHOOD�JDUD���6RFLHW¢�3,6$�72:(56

$�6�'��FRQ�LO�SXQWHJJLR�GL��������������5�$�$������FRPPLQD� !�8OWHULRUH�SDUWLWD�SHUVD���6RFLHW¢�3,6$�72:(56�$�6�'���������������5�$�$���

3DJ�������



9,$/(�7,=,$12�������������520$
7HO����������������)D[������������

3��,9$������������

&RPXQLFDWR�8IILFLDOH�Q�

��������

'��'HOLEHUH

1HVVXQ�FRQWHQXWR

,O�*LXGLFH�6SRUWLYR�5HJLRQDOH

'XFFLR�0RVFKHOOD

3DJ�������


